AR RENTRE/RE 8.3
B| B BB| X5 | B& RIE
SE°C | SEC
100 1 =2 i 25.9 16.4
2 x & 24.2  12.7
3 B |<3Y| 236 129
4 B [<HY]| 239 113
5 X i 26.2  16.5
6 Kk [<HY| 233 16.7
7 K i 23.6  16.3
8 % & 22.4 15.5
9 | & 18.1  15.5
10 A & 25.8 151
11 A i 26.5 16.3
12 &k [<HY| 23.3 161
13 K | # 25.7 173
14 K 5 24.0 16.3
15 £ [<HY| 2.3 17.2
16 =+ & 23.6 14.3
17 B |[<HY| 221 143
18 A & 22.3  11.8
19 & [<HY| 183 10.8
20 Kk [<BY| 19.5 127
21 K [ <3y | 188 13.5
22 & | <3Y| 16.6 13.9
23 * i 20. 1 1.5
24 B [<3Y| 185 9.7
25 A [<3Y| 21.7 125
26 X [<HY| 140 13.0
21 K | HE 1227 5.1
28 K| & 7.5 3.4
29 % i 16.6 7.3
3 x| @ 10.8 8.8
31 H 5l 5.2 10.7
10885t

BE 5,998/ (OH14B~T10H14E%)
5% : 15,360/ (9B14B~108148%)

HEE BEE=E
(A) (7v)
16. 1 12.0
17.1 10.8
16. 6 13.2
14.1 11.4
14.3 10.5
14.7 11.3
13.7 10.9
18.9 14.1
18.5 16. 1
18.5 14.2
16. 2 11.4
15.9 12.8
12.6 9.0
17.4 13.3
17.4 14.4
18.7 13.4
156.7 11.8
17.4 13.0
17.0 13.9
16. 2 13.0
15.9 13.1
19.2 16.8
18.9 13.8
17.6 14.0
16. 1 13.2
19.6 16.8
20.3 16. 1
24.7 22.8
21.5 16.6
22.3 21.6
22.0 20.1
945. 1 435. 4

2010%F10R R
Bk | TEEEE
(4) - ()| (=) %48
8.0 960
9.4 970
1.3 696
-6.7 226
2.8 638
-0.2 533
1.0 571
-2.9 538
-15.2 43
-5.8 403
8.8 970
—6.6 298
5.6 101
2.8 197
-11.5 139
-1.7 962
-2.1 437
6.6 941
-4.9 432
-8.0 240
-11.2 91
-156.7 53
2.9 802
-6.7 350
-4.4 422
-13.4 163
-6.3 470
-22.17 5
2.1 898
-21.6 0
-19.7 19
14, 366




